Template for Questions for Final – On Track
1. Select 10 questions worth 2 points each (vary the difficulty of the questions) 
2. The 10 questions for a single book should total 20 points.
3. Check the submitted questions to verify correctness, prior to selecting a question.
4. Select 3 tie-breaker questions.
5. Please submit your choices to me, no later than– Monday 29 March.
	#
	Question
	Answer
	Elements/Key words/Points
	Page

	e.g.

	Describe the boy’s virtual prison room.  What did it look like and what did it contain?
	“Inside his room there was nothing but a bed and a chair and one window, high up”
	· Bed  ½ pt
· Chair ½ pt
· High window 1 pt
	Prologue

	1
	What is the exact age difference between Shaun and Toby according to Toby?


What does mum call toby and why?
	Shaun is only 11 months, 9 days, 4 hours and 22 minutes.


Mum calls him sugar baby…. He eats way too much sugar.
	¼  point each for each of the following:
· 11 months
· 9 days
· 4 hours
· 22 minutes
Sugar Baby  ½ pt
Eats too much sugar ½ pt
	 5




7

	2
	According to Toby, what 2 traits does Shaun inherit  by being first-born?
	Responsibility and respect are his just by being born first
	1 point each for:
· Respect
· responsibility
	6

	3
	When Shaun classifies Toby, what Phylum and identifying traits does he state?
	“Phylum: Bumbleland”
Identifying traits: comical, clumsy, slow
	· Bumbleland ½ point
· Comical   ½ point
· Clumsy    ½ point
· Slow         ½ point
	35

	4. 
	When Mum takes Toby to town, who do they have an appointment with, and meanwhile, what is Shaun helping Dad with back at home?
	Appointment with OT – Occupational Therapist
Shaun – working on improvements to the chook pen and patching holes in the chook pen fence
	· OT – Occupational Therapist 1 pt
· Mending holes in chook pen fence ½ pt
· Improving chook pen – new perch ½ pt
	43,45, 53


	5
	Toby’s coach, Coach Lawrie gets Toby to train his muscles to respond without having to think. Name 4 of the exercises she has Toby do to train his muscles.

	Coach has been training my muscles to respond without me having to think: step-overs, butt kicks, upper body posture, stair work, hills, fast starts, light feet, 200 and 400 metre reps

	Any 4 of the following for ½  point each: 
· step-overs             
· step-overs, 
· butt kicks
· upper body posture
· stair work
· hills
· fast starts
· light feet
· 200 metre reps
· 400 metre reps
	95

	6
	When commenting on Toby’s running, his parents make two very different comments. Both comments are linked to animals but only one is complimentary. What are the two comments that are made by Toby’s mum and dad.
	“Dad often says I’m a stone bull in a glass shop, but mum tells him I’m a gazelle on track now.”
	· Stone bull in a glass shop (1pt)
· A gazelle on track (1 pt)


	P. 108

	7
	Both Toby and Shaun have the opportunity to attend an Athletics Camp. 
How much was the camp fee? 
How many kilometres away is it from where they live?
 

	“Ask your parents about it. It would be perfect for you – teach you things that I can’t.” “Two days, 400 kilometres each way, $150 camp fees times two, plus travel, fuel and accommodation.”
	· $150 each (1pt)
· 400 kilometres ( 1 pt)

	P.110

	8
	Shaun observes that when they arrive at Athletics Camp, they are not at school, but everyone is wearing a uniform.  Name 4 things that he observes everyone is wearing.
	Skins
Waffles
Spikes
Adidas
Nike
Reebok
Sports-brand clothes
	½ mark for each of the four answers
	124

	9
	What two events do Toby and Shaun each choose to focus on at the Athletics Camp?
	Toby: Sprints and Long Jump
Shaun: Discus and High Jump
	½ point for each event  (1 mark per boy)

	143
156, 162

	10
	Why does Toby go to watch Shaun in the discus event? Give two reasons.
	· Because he’s my brother
· He’s on my team
· I know how badly he wants to win
	1 pt for each of the two reasons


	207

	
	Tie-breaker Questions
	
	
	

	1
	Who held the record for the 800 metres race?
	Bailey Walters
	Bailey Walters 2 points
	266

	2
	List 4 of the sports Toby and Shaun can choose from.
	‘Discus, sprints, hurdles, 800 metres, long jump, triple jump, high jump, Javelin, shot put’
	Discus, sprints, hurdles, 800 metres, long jump, triple jump, high jump, Javelin, shot put    ½ each point for correct 4.
	130

	3
	Why does Shaun feel so bad about the discus event that he wins?
	He threw two fouls with one hitting Tiggy Thompson.

	Two fouls 1 pt
Hitting Tiggy Thompson 1 pt
	224



